6 4 3 DWG. NO. SIZE | REV. | SH. 1
7 | | 5 | 21F641 | A |1
ITEM [[PART NO. QTY |DESCRIPTION MATERIAL
TO P 1 [21F721 1 Flat Panel Assembly
2 ||21F731 1 Inner Vertex Inline Holes & Slots
3 [[21F732 1 Inner Vertex Inline Holes & Pinholes
4  ||21F733 2 Inner Vertex Inline Holes
5 [[21F741-2 8 Composite Screw, M3 X 8.01g
6 [[21F741-1 8 Composite Taper Pin, 3 X 6.01g
7 21F741-3 8 Composite Nut, M3
(N].05
BACK SIDE OF 8 TABS
(|.100
/BACK SIDE OF 4 TABS

UNLESS OTHERWISE SPECIFIED | SHOP ORDERS | SR ERNEST ORLANDO LAWRENCE

g[xx=05  [FRAC :uea |5 o |onE BERKELEY NATIONAL LABORATOR Yersxs

% X.XX +0.25  |ANGLES +30' |1 REOD UNIVERSITY OF CALIFORNIA - BERKELEY

S [X.XXX+ 0.013 |FINISH 1.6 SREATENT LBNL ATLAS

DO NOT SCALE PRINT | wertop T A SIDE END CONE

THREADS ARE CLASS 2 EﬁﬁJBig ATLIP-ED-0089 | suussuconsusisren coco |NTERFACE ASSEMBLY

THIRD ANGLE PROJECTION A3 01/17/03 |ltem 6 now Composite material CHAMFER ENDS OF ALL SCREW THREADS 30° EmJEECIJS ATLAS SILICONE SUBSYSTEM | MICROFILMED: DWG. TYPE SHOWNON | goae 121 omor
—1 [A2 01/17/03 |Added item 7 CUTIOUID 18 TEONELET OU WG RIS OWG Roger Smith | oATEO4/15/2002 ASSEM | nnXnnn SHEET 1 OF 2
I-\l Al 01/17/03 |ltem 5 was Soc Hd Sc, M3 X5.0 |g REMOVEBURR-S,WELD;PLATTER&LOOSESCALE g\'—(iK CKD BY DATE 04/15/2002| PATENT CLEAR: |DESIGN ACCT.NO. | CATEGORY CIDE | DWG. NO. SIZE | REV.
REV [ DWG| CHK [ZONE DATE CHANGES IN ACCORDANCE WITH ASME Y14.5m & B46.1 Q\P{R APPROVED DATE 04/15/2002 PlAP'll AP6250 21F641 A




8 | 7 | 6 | 5 * 4 | 3 | To1F641 | 1| 2 1

ITEM| PART NO REQD DESCRIPTION MATERIAL

+0.025
@ 3.20 0.000

+0.025
©3.20 0.000

( $418.0+0.020 )

(R 139.843+0.020 )

(R 134.50)

‘\ SLOT 4.00 Ig X 3H7 wide

®

+0.025
©3.20 0.000
+0.025
?3.50" 4 00
AV
N i B B | i
#3500 500 Y s IR L s s vy Y 73200000
SISV RS R ISR ESIDN Y
\
$3.2070925 ©
' SLOT 4.00 Ig X 3H7 wide
SEPEPEWY
UNLESS OTHERWISE SPECIFIED | SHOP ORDERS | SR ERNEST ORLANDO LAWRENCE
% XX £05 FRAC. + 1/64 | nSCT Neop | len BERKELEY NATIONAL LABORATORYQ\&
(R105.802+0.020 ) S XXX £025 |ANGLES 30 |15 REOD UNIVERSITY OF CALIFORNIA - BERKELEY
( 5 67 8040.020 ) 8 [X.XXX+ 0.013 |FINISH 1.6 ?EE%E&ENT LBNL ATLAS
.oUzU. DO NOT SCALE PRINT | wemop ™6 A SIDE END CONE

PROJECT \T| |P-ED-00BO | wowsssssorns INTERFACE ASSEMBLY

THIRD ANGLE PROJECTION A3 01/17/03 (ltem 6 now Composite material CHAMFER ENDS OF ALL SCREW THREADS 30° Eiﬁfcbs ATLAS SILICONE SUBSYSTEM | MICROFILMED: DWG. TYPE SHOWNON | qoae 131 oo e

N —1 2 OU/L7103 |Aded ftem 7 O T O B g sy [oveoanso ASSEM | nnXnmn | SHEET 2 OF 2
@-}J I-\l Al 01/17/03 |Item 5 was Soc Hd Sc, M3 X 5.0 Ig HEMOVE BURRS, WELD SPLATTER & LOOSE SCALE CHK CKD BY DATE 04/15/2002| PATENT CLEAR: |DESIGN ACCT.NO. | CATEGORY CIDE | DWG. NO. SIZE | REV.
REV |[DWG| CHK [ZONE| DATE CHANGES N ACCORANEE W ASHE i 506 AR APPROVED |oATE 04/15/2002 P1AP-11 | AP6250 | 21F641 1
8 7 6 | 5 I 4 3 2 1




